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Instructions ¢

(1)
(ii)
(iif)
(iv)
(v)
(vi)

(vii)

(viii) Question No. 17 is related to fill up the map of world.

120

All questions are compulsory. :
Question Nos. 1 to 4 are objective type. Each question carries § marks.
Internal options are given in Question Nos. 5 to 18.

Question Nos. 5 to 7 are assigned 2 marks cach and answer should be given in
30 words. ’ | .

Question Nos. 8 to 10 carry 3 marks each and answer should be given in
7S words.

Question Nos. 11 to 15 carry 4 marks each and answer should be gwen in
120 words.

Question Nos. 16 to 18 carry 5 marks each and answer should be given in
150 words.
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1 @ faser gy fafag : | | | | - 1%3=
(1) zurd €. &t Ymd i ¥ - '

() 9= (i) oM
(i) ST - (iv) &d
@) fava § swiem & ghe @ wow ww ¥ -
(i) wa C (i) o
(iii) 49 (iv) S .
@) wRa ¥ R afrs 9" IuRE T § - |
(i) @ | (i) ST WA
(i) ufyEw @@ (iv) orad
(@ " & ggW gER swE few wq A e § ®ier T ?
@) 1975 (i) 1977 -
(iii) 1979 | (iv) 1980
(3) WNa B TR FEEE § - S
| (i) T o () oEHEET
(iii) T3 | (iv) YR

Choose the correct option :
"~ (A) Ku. E. C. Semple is geographer of -

(i) China - (i) America
(iii) Japan (V) Russia
(B) From polulation point of view the first position in the world is -
(i) India - (i) America ‘
(iii) China ~ (iv) Japan-
(C) Maximum Tea production State in India is -
(1) Kerla (i) Uttar Pradesh
(iii) West Bengal (iv) -Assam
(D) Which year, first communication satellite of India was launched in space ?
G 1975 o () 1977 |
(i) 1979 Gv) 1980
(E) : | is called 'Manchester of India'.
(i) Delhi : (ii) Ahmedabad

(i) Mumbar (iv) Nagpur
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(v) d4Q da ol wém qftaes & @ ¥ )
Fill in the blanks
(1) The bigest Industrial area in India is
(1)  Multiformity and is in India.
(1)  World's longest rail route 1s
(ivi ——— is called Jack of all trades'.
(V) e is fast and costly mecans of transport.
3 ud Q] aw ¥ Fax i
(i) dliferne & BF T B T Giepfae AT B ITECT § 7
() W N uad FA SEEE T 9@l o9 BE-Er ¥ 7
(i) A ¥ uad @t g uRyega ee-d ¥ 7
(v) AR Al g oaed ¥ 7 |
(v) BA-W g ln soaf @ e ¥ ?
. Answer in one senlence or word
(1)~ Which farm ol tamil Nadu is example for cultural plan ?
(i) Which State hay the lowest population density in India ?
(i) Which is the longest pas pipeline in India 7
(iv)y What is the Slum ¢
(v)  Which settlement in Agriculture based settlement ?
4 q& opfedd R
(&) udaa o (1) HYgE TG S
@ wiehind (i) his@r
@ i 4 (i) =y wgwor
@ wallu wome vy Flhana
(3) WU (v) b
| (vh) "Iy ugnor
Match the fbllowing columns :
(@)  Tourism ey 1) UNA.
(by Black anil 1)  Kandla
(¢) Farmsteml @di1)  Noise polluntion
(¢) Tide port (iv) Nuinital
(e) Deafnegy (v) Cotton
(vi) Air pollution
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aHe i e orf fafag | ' 2
Write the meaning of human geography. '

| s / OR

ag e % el | ymweanet & AW fafa |

Write names of any four human geographers.

6 rirn aifgardl @ & fadwad fwfew 1 - 2
Write any two characteristics of urban settlement. ’ |
s / OR
g wEll & i gies & fas eEe o

Draw the figure of linear pattern of rural settlement.

7 W9 YUY & B I BV (g | | 2
Write any two causes of water pollution. '
squar / OR
TriE dau Moem & B @ sug falew 1

Write any two remedies of urban waste disposal.

8§ oW guEE @ FE dF gwan fateg | 3
Write any three problems of water resources. :
sy / OR :

g ygad duar & B¢ dm siwa fafeg

Write any three aims of third five year plan.

9 Uuh ¥ YICWE B FE A faewand Wy | -3
Write any three characteristics of good port.
sJyar / OR A
IR & fRel =R @ o 3 R fatg

Write any three characteristics of foreign trade of India.

10 mah%ﬁéﬁﬁw%f@ql ' . 3

Write any three importance of Telévision.
Y / OR

Yo aftaes & B G TE Ry )

Write any three importance of rail transport.
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Why is compact population in South-East Asia ? Write any fo(;’r causes.

: Fyqr / OR ,
mrﬁurqawfmmﬁwmi |
Distinguish between rural population and urban population. - |

12 7% whhT it Ry wed ¥ 7 3o Red wuel o SEEA g ¥ O?
What is the truck farming ? Which crops are produced in this farming ?
- 3@ / OR L ;
FR M T geq s@w ¥ ot Rifew 1 |
Distinguish between cottage industry and large industry. '
|
13 mm&&mwzﬁfmﬁmﬁwwwm%? 4
Why is Trans Siberian railway called Siberian's life line ? '3
' @ 1 OR » g | '
rﬂatrﬁaméswm%ﬁml !
Write any four importance of water transport. t
14 vE ¥ e gfe % B A st | 4
Write any four causes of population growth in India.
@ / OR |
wwd ¥ e @R @ s 9 geerd fifaw |
Write any four problems of Tribe Caste Community in India.
15 g@%ﬁgﬁwwﬂﬁmﬁﬁ%www i
Write any four causes for Cotton Industry developed in Mumbai.
| | W@ / OR |
Al & TR swwd W fafen | |
Write any four indirect advantages of forest. |
16 Nawtvats gy & wHd W v @i |
Describe the types of subsistence agriculture.: '!
syat / OR , ;
e ¥ gl 9w Ia & faew & &% e PR fafeg Ii
Write any five causes of cotton textile Industry developed in Japan. |
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ﬁﬁﬁfﬁ@ﬁaﬁﬁrwimﬁal’iaaﬁsﬁ:

(1) W eArus e (2) 8ME WX

(3) ared () gohavs
(5) wErEr A '
Show the following in the world map :
(1) Trans Canadian Railway (2) Arabian Séa
3) Tokyo (4) New Zeeland
(5) Tasmania Island | |

f 3@ / OR
Prafafaa & frga At & <o
() T ghvea T (2) T X
(3) i f CIEISEIR
(5) wed ¥ ¥uered st |

Show the following in the world map :

‘(1) Trans Indian_;Railway - (2) Panama Canal

18

(3) Shri Lanka @) Kolkata
(5) London to Captown Waterway

mﬁmm%mmmmam‘mmﬁg@

W

Write the geographical conditions that are required for tea production in India.

(any‘five) |
S @ / OR o
W P B FE G TR B9 B |

Describe any five problems of Indian agriculture.
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World Map
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